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12 Times tables

12 X0
12 X 1
12 X 2
12 X 3
12 X 4
12 X 5
12 X6
12 X7
12 X 8
12 X9
12 X 10
12 X 11
12 X 12

12
24
36
48
60
72
84
96
108
120
132
144



Arithmetic

1.0 2.0

Factors of 20 Factors of 25

Factors of 30 | Factors of 116



Arithmetic answers

.U 2.0

1,2,4,5,10,20 1,9,29

1,2,3,9,6,10,15,30 | 1,2,4,29,58,116
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LO: To multiply 4 digits by 2 digits



Home learning video support if needed. Please click

on link and watch video.
https.//www.youtube.com/watch?v=RVYwunbpMHA

Math Antics - Multi-Digit Multiplication Pt 2
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%, mathantics

Learn More at mathantics.com Visit http://www.mathantics.com for more Free math videos and additional
subscription based ...
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. Use <, > or = to make the statements correct.

4458 X 56 O 4523 X 54
4458 X 55 O 4523 X 54
4458 X 55 O 4522 X 54



Mathematical Talk

Explain the steps followed when using this multiplication
method.

Look at the numbers in each question, can they help you
estimate which answer will be the largest?

Explain why there is a 9 in the thousands column.
Why do we write the larger number above the smaller number?

What links can you see between these questions? How can you
use these to support your answers?



TASKs

Task 1 Complete the questions on this presentation

Task 2 complete the worksheet Friday Worksheet, you decide where you start.
Ensure you challenge yourself.

Once finished, do the thinking deeper questions on the next slides.

Mark your work once finished. Remember do not cheat. You will not learn that
way.



Multiply 4-digits by 2-digits

o Complete the multiplication.

|

1/12(3|4
x R

':2j3 a (‘,234)('])
| T2]al6[8]o] (1.234x|:|)

° Tommy Is calculating 1,234 x 26
a) Complete his working out.
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b) Fill in the grid to check Tommy’s working is accurate.
You may use place value counters to help.

* 1,000 200 30

20

®

° Rosie is calculating 2,541 x 42

N
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Here is Rosie's working. (2541 x 2)
% x

(2,541 x 40)
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a) Rosie has mode two mistakes. What are they?

b) What is the correct answer?

[ 1

° Work out the multiplications,

o) 4,284 x 23 b) 2,142 x 46

What do you notice?
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° A machine makes 2,734 boxes every hour.
The machine works for 3 hours each day.
a) How many boxes will it moke in 12 days?
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a) Using all the digit cards, create 4 different calculations and work
out the answer to each.

b) Compare methods with a portner, Were there ony other ways

you could have worked out the answer? y :
b) Write your answers in ascending order,

© workouwtasx7x12
Show your method clearly.

¢) What is the smallest product that can be made?

il
|
i . o '
i o Amir scores 4,680 points in a computer game for 12 games in o row.

Whitney scores 2,512 points every gome for 24 gomes.

Who scores more points?

How many more?




o Complete the multiplication.

1 2

(1,234 [I’)
(1,234 x )

112
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0 Tommy is calculating 1,234 x 26
a) Complete his working out.

11234
x 2 6
7| "

0, 4
2 4 6 8 0
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b) Fill in the grid to check Tommy's working is accurate.
You may use place value counters to help.

]

x 1,000 200 30 4
20 20,000 | 4,000 600 " ®)
6 6,000 1,200 150 Yy

&

Sk . "

b) What is the correct answer?

° Work out the multiplications,

a) 4,284 x 23
LA B8y
X 23
| 218152
9680
q/8/S/3 12

)

What do you notice?
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© ~ machine mokes 2.734 boxes every hour.
The machine works for 3 hours each doy.
a) How many boxes will it make in 12 days?

b) Compare methods with a partner. Were there any other ways
you could have worked out the answer?

©Q workou3mmx7x12
Show your method clearly,

05 i

- UL

a) Using all the digit cards, create 4 different colculations and work
out the answer to each,

Variouwn anowers.

b) Write your answers in ascending order,

© What is the smallest product thot can be made? | 33 51, ﬁ

Amir scores 4,680 points in a computer game for 12 gomes in @ row.

-

Whitney scores 2,512 points every gome for 24 games.

Who scores more points? _hlh..l.uj_

Aras: 56,160

WNCNﬁ : 60,29%

i



Thinking Deeper

Can you spot and correct the errors in
the calculation?




There are 2 errors.
In the first line of
working, the
exchanged ten has
not been added.

In the second line
of working, the
place holder is
missing.

The correct

answer should be
58,282



